KUWAIT UNIVERSITY
Department of Mathematics & Computer Science

Math 102 July 1, 2000
First Mid-term Exam Duration: 79 minutes

Calculators and mobile phones are not allowed

1. Show that f(z) = 1 - In(3z) has an inverse. Find f~'(z) and state its

domain and range. [4 pts]

2. Given that f(z) = 22° + 5z + 3, find the slope of the tangent line to

the graph of f~}(z) when z = 10. 3 pts]

3. Use logarithmic differentiation to find f'(z), where 3 pts]
_ Vz+1secz

/)= VT sinz

4. Show that: 3 pts]
tan™! (-i-) =cot™' 2, forallz > 0
5. Prove the identity: 3 pts]
T—?—E%%E = coshz + sinh z
6. Evaluate the limit: 3 pts]
Jim (2 + 3):
7. Evaluate the following integrals: [3 + 3 pts|
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